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Find x, y and z given that the numbers x, 10, y, 24, z are in A.P

x, 10, y, 24, z aaiumay @ &L BSH OCTLJauflengulsd o sitener eleled, X, Y, z
SLFHWIUBSIET DHIL| ST,

a.6,12,27 b. 4, 16, 30 c.3,17,31 d. 5, 18, 31

In a theatre, there are 20 seats in the front row and 30 rows were allotted. Each
successive row contains two additional seats than its front row. How many
seats are there in the last row?

R deflior  ogmEar  (pHeo  auflengulled 20 DHBMBBEHID  GoTHHWD 30
AflenFHEHID 2 6iT6T6n. SbSHH0HS @6euTH aflenFulId DSBS (PHMSUI
aflmgmweal.  @renih G(HBMIH6T  Fn(BHHEVTH 2 _6IT6N60l. smLd  auflengFuied
IHBHM B(HBHMBH6T E)(HHGLD?

a. 74 b. 78 c. 80 d.76

If nine times ninet" term is equal to the fifteen times fifteenth term, six times of

twenty fourth term is.

b H&LBSH Ot jaflevsulsr  eauFTalgk o mInlear  @ailg DL RIGLD,
UFHmebIHToudH © ML LSHenelbhdl OLHIGD FIOWD 6Iee0 EHUSSH  HTTSTOUS]
® mIleT Sl LOLBIG).

a.24 b. 15 c.9 d.0

Find the sum of the following 6 + 13 +20 + ... + 97
Lesteumealemaumler gnBdHev dmewis. 6 + 13 +20 + ... + 97
a. 103 b. 498 c. 641 d. 721

How many consecutive odd integers beginning with 5 will sum to 4807
5-00(pbg  OHTLRIS  61HHmeN  OHTLIFFWTOT QMMM (DRSBTS  Fal 1QGITED
F(BHFHL 480 FHlewLBH@GHW?

a. 21 b. 19 c.22 d. 20

Ifa,b, c, [, marein A.P, then the value of a-4b + 6¢c -4l + m is

a,b,cl,m aaguar g’ BHH OFHTTaflenguled Sminler a-4b + 6¢c -4/ +m =
a. 1 b.2 c.3 d.0
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Find the middle term (s) of an A.P 9, 15, 21, 27, .... 183.
Heteumd anl (s GHTLMed 2 eiten BB _miilmensd srewis. 9,15, 21, 27, .... 183
a. 93,99 b. 87,93 c. 99,105 d. 81, 87

Find the rational form of the number 0123.
0123 616513 eTemTenfler alAHUPMI QUIQEUD HTERTE.
41 123 41 123
a. — b. === C. — d. =
330 329 333 301

Find the number of terms in the following G.P.
eitaupd  QUHBGHSH OFHTLTeuflenguled o eifem o miiHellenr  eTewtenlldbmBpemuid
11 1

927" 2187
a.6 b.8 c.7 d.5

BT .

1
31

Find the sum of first six terms of the G.P. 5, 15, 45, ...
5,15, 45, ... e&B OQuUBHSSGHS OCFHTLT euflengulsr (pHe0 6-2 M HeNer FnBEH60
BHIT60TDH.

a. 3,640 b. 2,620 c. 1,930 d. 1,820

Find the sum of the following series
Ueteurpd OamLjsellear ambHenevd smenis. D1 + 52 + 53 +...+ 92
a. 2973 b. 248 c. 1,763 d. 3,003

Find the sum of the following series
Lesteupld OHTLTHeMeln gmbBHenevd Srewis. 1 +4 +9 + 16 +...+ 225
a. 2,000 b. 3,256 c. 1,240 d. 3,636

Find the sum of the following series
Heteumd QT joeller ambpenevd &rewis. 1 +3 +5 +...+ 71
a. 1,225 b. 1,296 c.1,156 d. 1,444

Ina G.P 729, 243,81 .... find t;
Heteupd QUmBEG OFHTLT euflewgule 7oug o miienu srenis. 729, 243, 81...

a1 b.3 ) d.%

f1+2+3+...+k=325then find ®+2°+3 +...+k°.
1+2+3+...+k=325aafled 1°+2°+3+..+k*-a1 A HT6UIS.
a. 105625 b. 34328125 c. 975 d. none of these

Find the sum of 2+ 4 + 6 +...+ 80
FmbHe0 HTewim. 2+ 4+ 6 +...+ 80
a. 1,420 b. 1,640 c. 1760 d. 1,800
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How many terms are in the series -11, -15, -19
-11, -15, -19 -83 B5H0HTL M0 aTHHmeT 2 MINILH6T 2_6iTerme?
a. 20 b. 21 c. 19 d. 18

Find the 10th term of a G.P. whose 8th term is 768 and the common ratio is 2.

Qb CUmEGHS O0HTLT euflwgulled 8-eukh o mii] 768 wB@ID CUTEH lSFHD 2
aTellen, SIFHei 10-euFH 2 WIS SHT6EwIS.

a. 4,028 b. 3,072 c.6,124 d. 3,112

Find the number of terms in the A.P 3,6,9,12, .... 111 ?
3, 6, 9, 12, ... 111 eemB &l GOSTLT aifldFuled aHHmeT 2 WILIL|H6I
SDIMLOHSHI61T6TT601?

a. 36 b. 37 c.41 d. 39

The ratio of 6th and 8th term of an A.P is 7 : 9. Find the ratio of 9th term to 13th
term.
b F&LBSH CsTLJauflensulsr 6-eugk LOBBID 8-6ugh 2 i seler alHHd 7 :
aiadlle0, 96Uzl LOB@ID 13-6uFH o Ml HeNen alHHD HTem.
a.8:13 b.11:14 s 12 d.5:7
Solution:
Given: £
t8
_ a+5d
a+7d
9a+5d)="7(a+7d)
=a=2d
t a+8d 2d +8d 5

NOW’ = = = = —
t, a+l2d 2d+12d 7

t,it,=5:7

In an A.P. the sum of first n terms is 5%+ > Find the 17th term.

QM FmL(BH OHTLTauflongulsd (WHed 71 2 mIiseier gnbHHeo 5%+3?n eTedlen, 17-
UGl 2 _MILIenLIS SHTEwISb.
a. 84 b. 78 c. 96 d. 80
Solution:
5n*  3n _ 1

S, = T+? = E(5n +3n)

Replacing n by (n - 1), we get
1 _ 1
S, = 2(5(n 1) +3(n-1)) = S5 -7n+2)
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- Sn—l

n

(Sn2 +3n-5n2 +7n—2)

(10n-2) =51-1 — (i)

Putn =17 in (i) we get,
2T, =5(017)-1=84

Find the sum of all natural numbers between 300 and 600 which are divisible
by 7.
382)— S 600 -G GG 7 6O UGUBLD DMATHH  EUI6D  6T6WTEH6NT 60T
Fn(HFH6V BTGNS,
a. 18,264 b. 17,264 c. 19,264 d. 20,264
Solution:

From 301 to 599

301 =7x43+0

599 =7x85 + 4

85 - 42 =43 terms

.. The series 301, ..., 595
s, = g(a+l)

= %3 3014 505)
2

=19, 264

An A.P consists of 31 terms. If its 16th term is m, then the sum of all the terms of
this A.P. is
Qb &S T jauflengulsd 31 2 mIseT 2 effenel. SISl 16-6ukh o mii] m
aefley, SbhHDH Fnl (B GHTLJauflenguled 2 _6iTem 6T6060T 2 MILIL|H6TT TnHH60.
a. l6m b. 62m c. 31m d. %m
Solution:

e =m

S = >(2+30)

3—21(2(3.4-15))

= 31(t,) (= t, = a+15d)
=31m

24. Find the sum a_b+3a_2b+5a_3b+...t012terms.
a+b a+b a+b
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a-b 3a-2b 5a-3b
+ +
a+b a+b a+b

FnBIH6V SHTCIIb. [ +12 g@uu&,sﬁ} I

6

a+b

C. £(2a—13b) d. i(4a—13b)
a+b a+b

a. (4a-13b) b. %(24a—13b)
a+

Solution:

a-b = 3a-2b a-b _ 2a-b

a+b’ a+b a+b  a+b
g[2a+(n—l)d]

12 Z(a_bjﬂl(za_bj
2 a+b a+b

O 124a-130]
a+b

Find thesum 3 +1 + %+ ...00

3+1+ §+ ...0 eIy OFHTLHl6T FmBHO HTCUwIH.
a. > b. g .2 d. 2%

2 2 2
Solution:

3+1+%+...+oo 3(1+%+3i2+...+ooj here,a=1andr =

—3[1 ] (-.-sw=&)
ROk

The houses of a street are numbered from 1 to 49. Senthil’s house is numbered
such that the sum of numbers of the houses prior to Senthil’s house is equal to
the sum of numbers of the houses following Senthil’s house. Find Senthil’s

house number?

m OFmalsveien aihadend@d 1 WHe 49 ey OCHTLIFHwTsd HHalevshasld
QULPMmIBLILIL (HeTerg). CapdHedar el luBE  WeleHTad 2 efen  aihderlen
HHal60HBMmIB6 gl (hdh OHTensWTaIH CFHHeda il gB@&GL LaTaIHTd 2 6iTern
aihsela SHalevbanisemel gl L HOHTnSHGHF WD 660 OFhHeder ail (hdh
BHNNVHHHMNHE HTEWIS.

a. 35 b. 45 c.49 d.25.

Solution:
Sum of the numbers of
houses preceding x = Sum of the number of houses following x
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5SS, - S,

Sum of first n natural numbers S, = n(n+1)

(x-1(x-1+1) _ 49(50) x(x+1)
2 2 2

1 _1
E[x(x—l)] = 5[2450—X(X+1)]

x(x-1) = 2450 - x(x+1)
x2—-x=2450 - x2 - x
x2=1225
x =-35o0r35
Since, number of houses cannot be negative.
.. x=3b

A.P & G.P work sheet - I Answer Key
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